B.A/B.Sc. (Part II) EXAMINATION 2019

GEOGRAPHY

Second Paper—Human Geography
Time Allowed : Three Hours Maximum Marks : 75 for Arts
50 for Science
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1. (a) Show any five of the following on the map of the world provided

to you with suitable symbols. (7%45)
(i)  Atacama Desert (ii) Habitat area of Bushman Tribe
(iii)) Caspian Sea (iv) Pampass Grassland

(v) Congo River (vi) Atlas Mountam -

(vii) Highest population density state in India (2011)
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(B) Give the correct answer of the followmg
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@ “Race denotes breed, not culture”—
(a) Hadden (b) Vidal de-la-Blache
(¢) Griffith Taylor - (d) Carl Ritter
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(i) Who is the writer of COSMOQS ?
(a) Immanuel Kant (b) Strabo
(c) Alexander Von Humboldt (d) Bodm
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~ (iii) Man is a Geographical agent and not the least—

(a) Febre : (b) Carl O" Sauver
(c) Jean Brunches (d) Isaiah Bowman
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(1v) Havitat of Khasi Tribe :
(a) Orissa (b) Haryana (c) Meghalaya(d) Tamil Nadu
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(v) Who is the father of Neo-Determinism ?

(a) Herodotus (b) Strabo -
(¢) Griffith Taylor (d) Peter Hazgett
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Section-A ( &UZ-'31")
Define Human Geography Give a detailed account of Subject matter
of human Geography | o (5+10/3+7)
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Human geography draws a lot from several subjects and at the same
time contribute a lot to them. Justify the statement. (15/10)
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Explain critically the Environmental determinism and Possibilism.
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Section-B (@US-'q’) |
Give a detailed account of Body structure, economy, food, occupation

and social structure of Gonds or Mundas. " (15110)
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What do you mean by human adaptation to the Environment ? How
the Eskimos have adapted to the Environment ? Explain. (5+10/3+7)
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Section-C (guz-'w’)
What do you mean by Population pollmes 2 Gne a detailed account
of population pOIlClC& O?Iﬂdla _ o (3+12/2+8)
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Discuss the different factors affecting the rural settlements in India.
(TVa+T%2/5+5)
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9. What do you mean by Urban settlement 7 Discuss general pattern of
Functional Classification of Towns. (3+12/2+48)
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